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Note on a Generalized Negative Hypergeometric Distribution
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A discrete distribution converging on a certain continuous distribution is not neces-
sarily unique. For example, a discrete distribution should be essentially assumed to be
a population distribution from the viewpoint of description of data even if the inverse
Gaussian distribution is assumed as a population distribution for convenience and data
analysis is conducted. As assumed for discrete distribution, the generalized Poisson distri-
bution and the generalized negative hypergeometric distribution can serve as a candidate
in this case.

A generalized negative hypergeometric distribution is newly proposed. The general-
ized beta distribution and the generalized power inverse Gaussian distribution are ob-
tained as limiting distributions in this distribution.

Key words: Generalized negative hypergeometric distribution, generalized power inverse Gaussian
distribution, coefficient of variation.



